
NSN 5340-01-611-8274
Mechanic Equipment Hardware Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/5340-01-611-8274

End Application:

NSN2-35-501-5674

Component Quantity:

4

Component Document Origin:

Industrial

Document Source:

3ukx4

Document Type:

Mfr drawing

Supply Items And Quantities:

Washer 7/16 split lock,  p/n mc0239,  1;  nut 7/16-20,  p/n mc0240,  1;  eye bolt black 7/16-20x1-1/4,  p/n mc0276,  1;  washer

sae-7/16-0.469 id x 0.922 od x0.05/0/08 thk,  p/n mc0248,  1

Document Identification:

Mc0147

Product Name:

Floor eye bolt,  medium assembly

Relationship To Similar Equipment:

Similar to floor eye bolt,  medium assembly p/n mc0035

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

